Bellwork  Alg 2B  Thursday, September 21, 2017
Simplify each.
1. 8108 —7/48 - 2J75

2. 94250 +5,/64 —11¥128

3. (243 -5/11)(4y3 - 3/1T1)

4. The planned width of a rectangular garden is —%— of its length. If 4 meters were added to the garden’s

width and 4 meters were also subtracted from the garden’s length, the garden would be a square. Find
the width of the rectangular garden.
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Simplify each.
1. 8/108 — 7,48 —-2/75

365 6% 253
Ugrz — 2513 ~lo (3

2. 93250 +5/64 — 11128

X by-2

945 Q[z +40 — "H’;(—Z

3. (243 -5J/IT)(4J3 - 3J11)

189 - 267733

4. The planned width of a rectangular garden is —%— of its length. If 4 meters were added to the garden’s
width and 4 meters were also subtracted from the garden’s length, the garden would be a square. Find
the width of the rectangular garden. _
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